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(Solving the Exponential equation by use logarithms )
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Learning outcomes. Solve exponential equation and logarithmic equation and use

the properties of functions to solve other problems.
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Intended destination. Solve the exponential equation by use logarithm
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96% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %% % % % % %
Solving the Exponential equation by use logarithms
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Wy Adaums 20 =32 o log2" =log 32
=0 log2" =log 2°
x=5 x log2=5 log2
= 5log2 _5
log2
Alternate Example In Problems ,use logarithms to solve each exponential equation
1)12275>< . 8><+3 - 16
solution (2™ 37 2)" = 2
A G o 2log3+9log2 = x( 7 log2+5 log3)
213f7><.3275>< _ 24 « = 2log3+9log2
4 7log2 +5log3
32 =§_7 = 2(0.4771) + 9(0.3010)
. 2 7’_: 71(0.3010) + 5(0.4771)
3 = 2 w = 0.9542 + 2.709
log3”™ - log 2™’ 2.107 +2.3855
3.6632
(2-5x)\og3 = (7x-9)log2 X = o
2log3-5xlog3=7xlog2-91l0g2 % = 08154

2log3+9log2=Txlog2+5xl0g3 Answer 0.8154



2) e73e12=0 ,given log2 =03010 loge =0.4343
solution (€ - 2 ) e -1)=0

Soe -2=0 or e -1=0
e =2 or e =eO
logeleogZ or x=0
xloge = log2
« - I092= 0.3010
loge 0.4343
answer {0, 0.6930}
3) Given 10g2=0.3010 and l0g3=0.4771 ,log5 =0.6990 Find x
solution 3%- 5X*2

= 0.6930

_ 3x+4_ 5x+3
3X. 5X.52 - 3%.34. 5X.53
3%. 5X.25 = 3%.81- 5%.125

5%.125 - 5% .25 = 3%.81 - 3%

100-5% =  80-3%
100 _ (gj
80 5

5 _ (3
4 |5
5

1) ™46 21=0

solution
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Personal Skills 1

Change the base logarithm and natural logarithms

Learning outcomes. Solve exponential equation and logarithmic equation and use the
properties of functions to solve other problems.

Intended destination. Solve the exponential equation by use logarithm

Find the x of exponential
equation,given 10g2=0.3010
log3 = 0.4771 loge=0.4343
( 10 points )

1) ™42 15=0 (5 points)
SOUUTION ..ottt ettt e ettt ettt en et




2) 22X+l 32x+2 _ gax (5 points)

SOLUTION . ¢t et ettt et et e e et e e eee e et et ese e ee e et e e e se e et eeee et e et e e e et et et eene et eeeenneene

When finished. To change the

practice with a friend check the

accuracy.You have to do is greater

than or equal to 75 percent

Summary score

Score 10 points Made .....ccevenienicrriernnn. points

Instructor.  Mrs. Malaiporn uasuwan
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M 9181 x 1INaUNIAe 11 Hef11ua 10g2=0.3010 log3 = 0.4771 loge=0.4343

(10 AZLUY)

1) 2" = 200 ( 5AzUUU)
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